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QUESTION 1
Which one of the following code examples uses valid Java syntax?

A stuff.equals (“TV"”) ? res= “Walter” : stuff.equals (“Movie™) 2

res = “"White” : res = “No Result”:;

B. res = stuff.equals (“TV"”) ? “Walter” else stuff.equals
(*Movie”)? “White” : “No Result”;

C. res = stuff.equals (“TV") ? stuff.equals (“"Movie”)? “Walter” :
“White” : “No Result”:;

D. res = stuff.equals (“TV”)? “Walter” : stuff.equals (“Movie”)?
“White” : “No Result”:

A. Option A

B. Option B

C. Option C

D. Option D

Correct Answer: A

QUESTION 2

Examine: Which statement is true?

Result
CPU Time: 0.14 sec(s), Memory: 32028 kilobyte(s)

12

A. The program prints m1.Accessed.
B. The program fails compile due to the unhandled E1 exception.
C. The program prints m2.Accessed.

D. The program fails to compile due to the unhandled E2 exception.
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Correct Answer: B

Explanation:

int a = 3
int b
iptie = 1
int rl .

1kl o= / b
int r3 = () e+ 1))
System.out.println(rl + »
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Wi + IE + il = Wi + IB } ;

QUESTION 3

Which of the following exception will be thrown due to the statement given here?

int array[] = new int[-2];

A. NullPointerException

B. NegativeArraySizeException

C. ArraylndexOutOfBoundsException

D. IndexOutOfBoundsException

E. This statement does not cause any exception.

Correct Answer: B

In given statement we can see that, we have passed negative value for creating int array, which results a
NegativeArraySize Except ion. Hence option B is correct. Option A is incorrect as it is thrown when an application
attempts to use null in a case where an object is required. Option D is incorrect as IndexOutOfBoundsException thrown

to indicate that an index of some sort (such as to an array, to a string, or to a vector) is out of range. REFERENCE
rhttpy/docs.oracle.com/iavase/S/docs/api/java/lang/NegativeArraySizeException.html

QUESTION 4

Given:

class Overloading {

int x(double d) {
System.out.printin("one");

return O;

}
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String x(double d) {
System.out.printin("two");
return null;

}

double x(double d) {
System.out.printin("three");
return 0.0;

}

public static void main(String[] args) {
new Overloading().x(4.0);

}

}

What is the result?
A. One

B. Two

C. Three

D. Compilation fails.

Correct Answer: D

QUESTION 5

Given the code fragment:

public class Test {

static String[][] arr =new String[3][];
private static void doPrint() {

/linsert code here

}

public static void main(String[] args) {

String[] classl = {"A","B","C"};
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String[] class2 = {"L","M","N","O"},
String[] class3 = {"I","J"};

arr[0] = class1;

arr[1] = class2;

arr[2] = class3;

Test.doPrint();

}

}

Which code fragment, when inserted at line //insert code here, enables the code to print COJ?

A. inti = 0; for (String[] sub: arr) { int j = sub.length -1; for (String str: sub) { System.out.printin(str[j]); i++; } }
B. private static void doPrint() { for (inti = 0;i

int j = arr[i].length-1;

System.out.print(arr[i][j]);

}

}

C.inti=0; for (String[] sub: arr(][]) { int j = sub.length; System.out.print(arr[i][j]); i++; }

D. for (inti = 0;i

Correct Answer: B

Incorrect:

not A: The following line causes a compile error:
System.out.printin(strj]);

Not C: Compile erro line:

for (String[] sub: arr[][])

not D: Output: C
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